
No. of Printed Pages : 4 MESE-060 

M.Ed. (MASTER OF EDUCATION) 

Term-End Examination tr) 
En 	 December, 2014 

0 MESE-060 : CURRICULUM DEVELOPMENT AND 
TRANSACTION 

Time : 3 Hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Explain the meaning of 'curriculum'. Discuss how 
curricular reforms are being conceived of and 
undertaken in India in the light of NPE - 1986. 

OR 
Discuss the major foundations and dimensions of 
curriculum planning and their role and 
contribution in evolving a good curriculum. 

2. Answer the following question in about 
600 words : 
What are the models of curriculum planning ? 
Discuss integrated approach model. 

OR 
What is meant by an instructional approach ? 
How is it related to the major objectives of 
education ? Also discuss the place of instructional 
approach in curriculum transaction. 
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3. 	Attempt any four of the following questions in 
about 150 words each : 

(a) Development and characteristics of a 
curriculum theory. 

(b) Discuss in brief the stages of curriculum 
development. 

(c) Describe the process and features of activity-
centred curriculum planning. 

(d) Write a brief note on curriculum evaluation. 

(e) Discuss how Internet is useful in teaching, 
learning and curriculum planning. 

(f) What is the difference between counselling 
and tutoring ? Discuss their role in 
curriculum transaction. 

	

4. 	Answer the following question in about 
600 words : 

Suppose you have worked as a teacher in a school. 
Evaluate critically the curriculum followed and 
its transaction with reference to standard criteria 
and make suggestions for improvement. 

MESE-060 	 2 



-71.7T4.-060 

7% ( MITT k 	1R1cklTt ) 

	1TN-IT 

F' 41-tsit, 2014 

R74:714-060 : 	icichiti 	chiq 

TriTeT : 3  	 3TraiWTe 911ft-dr : 70% 

*2-  : w 774 so,' 3rf-4-470 el 
74.9fr 	917-ft-dr T/r/77 g I 

1. 1.11-1 	(911 	31It ffP.11T 600 7.1 -14 tf77 : 
	 t 312i A «41(sql Af-A7I .utt-z, trur 	 

1986 (7.1.t 1986) 	aird)-T 	i-Tr7 if 41c7?)c-11 
Tit ITT ro-1 Tr*-Ffq7R f*RTT 	t 3th 	 1.411( 

-F--Trr T tit? fad-cir ---11--A7 
3111-4T 

4Id-4-4 -c1ti 71)77T 	3iTtilt 74 3-TPTIT43i Lm 
31-4- 	Rotrkid cr.A 	3-1.44if I:F*1 3t1T 
tri7 f -1-11 1rA7 

2. 3x-It 7M-71 600 
41614-c411 71177 t 	.09* 	74—fff 341414 
M f cl+-11-1 (Integrated approach model) chl 	 
Tr77 I 

3111-4T 

3-1MITT-TW 34111 4-1 (Instructional approach) A.  3-17 
'TEIT 	t? 	-f7R.Tr -9-1Fr *TO A- Triff-9-a.  
t? 416-z4,4qi 	3T-1-k7raRTrw 3414 1 1-1 	T-9-TF 

(1-ft 	"1r—A-7 I 

MESE-060 	 3 	 P.T.O. 



	

3. 	r-i--11-01-6c-f 4 N fwt 	drk ( -7c -w dry 

041947150 	-4) 	 : 

(a) y16-al ciqi fiT-4-1" 	is -WITE AT F1R14c111 

(b) fd-*-17 	7Trt rn1 T:14.9. 	-rcid -cfrii 
--1-f-A7 

(c) fwm-cholvf-Fq-rtr--- 	 4 -5[F--*-zu 
3 Fa 	-q-crh 

(d) LiicszAlqi 4-1,1*-1 	#R1-7 fit f-ffti7 

(e) fgfgiIIT, afirrrn.  A 4ldalzi1f 4--A-9.1 	.-e-te-f-*7:1 

-51-WR er r 	t? 

(f) -cm-Trvi 3 31-PR-TuT ci-qi 3TR t? 
11'a q-1 14 h?   -1177 

	

4. 	r-14--iror(gri 	37R -TT I-11-1 600 	: 

-grri 01 cr 3-Trcr Fa m 	.) 	 ch 
t*-7fT t I HI-1c 4-11-1qu5). 	k-i-qq 	31--1g-Pir 
qics--,1141 A p:* r9r)qi-1q-1 	 4-1(-414)-1 

-w1-f-A-7 A 71-4 7r{ 	q1rsii 

MESE-060 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

